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Mgmt 380

Assignment 5
Simplex
DUE:  November 2
30 points
You may work on this assignment in teams of two, and turn in one paper for the team – both team members will be assigned the same grade (see II.c. on handout #1).

If you choose the “team of two” option on other assignments, you cannot work with the same person more than twice during the semester.

A clothing shop makes suits and dresses.  Three main resources are used:  material, rack space, and labor.  You have developed the following linear programming model for determining the number of suits and dresses to make in order to maximize profits:

X1 is number of suits
X2 is number of dresses
Zmax = 100X1 + 150X2  (profit, $)

Subject to:


10X1 + 4X2 <= 160  (material in square yds.)


X1 + X2 <= 20  (rack space)

10X1 + 20X2 <= 300  (labor, hr.)


X1, X2 >= 0

(1)  Solve this problem with STORM.

(2)  Solve this problem with the SIMPLEX method.

(3)  Report all relevant information (from the STORM printout) in a memo to management.

As always, follow the instructions for assignments on handout #1 (sections IIa.  and  IIf.).
